
Page 1 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

240mm

Organization Rail

1. Slide in Pressure Plate to the second slot of the 
    Organization Rail until 240mm from the edge.

2. Slide in Orgarail Adapter to the first slot of the 
    Organization Rail until 240mm from the edge.

1

2

240mm

Pressure Plate

Orgarail Adapter



Page 2 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

Organization Rail

3. Secure Orgarail Adapter to Pressure Plate with M6 
    Bolts at 240mm from the organization Rail edge. 

4. Repeat step 1 to 3 to install another Orgarail Adapter.

3

4

240mm

240mm

240mm

M6 Bolt



Page 3 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

Organization Rail

5. Close Orgarail Sides opening with Orgarail Covers.

6. Align Kragram to Orgarail Adapter.

5

6

KRAGARM

Orgarail Cover



Page 4 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

Organization Rail Configurations

KRAGARM

Position 1

Behind desk trailing edge
Not required cut-out option

Position 2

Centered desk trailing edge
Required cut-out option

Position 3

Inside desk trailing edge
Required cut-out option

97
5

72
0

P
osition 2

Position 1 Position 1

16001600

3200
16

28

P
osition 3

Position 3 Position 3

P
os

iti
on

 3

16
00

3200

1600 1600

32
00

16
00

P
osition 2

3200

1600 1600



Page 5 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

Organization Rail

7. Secure Kragram to Adapter using M6 Bolts.
    Repeat step 6 for another Kragram.

8. Attach Orgarail assembly to Rectangular Tube
    of the desk understructure.

7

8

KRAGARM

M6 Bolts



Page 6 of 6

FRAME ONE DESK
Assembly Instruction - Organization Rail

®

September 2008

Organization Rail

9. Install Clamp Plate from opposite side of the Rectangular 
    Tube from Kragram and secure with M6 Bolts. 
    Repeat the same for another Clamp Plate.

KRAGARM

M6 Bolts


	01
	02
	03
	04
	05
	06

